

17/5 کتاب ریاضی پسر 3

$$g'(x) = f'(\sin x, \sqrt{2} \cos x) \times (x \tan x (1 - \tan x) - \sqrt{2} \sin x)$$

$$g'(\frac{\pi}{4}) = f'(1 + \frac{\sqrt{2}}{2}) \times (2 \times 1)(1 + 1 - \frac{\sqrt{2}}{2}) =$$

$$\sqrt{2} = f'(2) \times (2) \Rightarrow f'(2) = \frac{\sqrt{2}}{2} \quad (2)$$

(جواب این سوال)

$$f(x) = (2 - \cos x) + \cos x g(x)$$

$$\Rightarrow f'(x) = \sin x + \cos x g'(x) - \sin x g'(x)$$

$$\rightarrow f'(\frac{\sqrt{\pi}}{2}) = -\frac{1}{2} \left(\frac{1 - \sqrt{2}}{2} \right) g'(\frac{\sqrt{\pi}}{2})$$

$$f'(\frac{\sqrt{\pi}}{2}) - 2g'(\frac{\sqrt{\pi}}{2}) = -\frac{1}{2} - \left(\frac{1 - \sqrt{2}}{2} \right) g'(\frac{\sqrt{\pi}}{2})$$

$$= -\frac{1}{2} - \left(\frac{1 - \sqrt{2}}{2} \right) \left(\frac{-1}{(1 - \frac{\sqrt{2}}{2})^2} \right)$$

$$f(x) = |x^2 - 2| a \sqrt{x} \Rightarrow \sqrt{\frac{2}{x}} a = 2\sqrt{2}$$

$$f'(\frac{\sqrt{2}}{2}) = (x^2 - 2) a \sqrt{x} \Rightarrow \sqrt{\frac{2}{x}} a = \sqrt{2}$$

$$f'(\frac{\sqrt{2}}{2}) = -(x^2 - 2) a \sqrt{x} \Rightarrow \sqrt{\frac{2}{x}} a = \sqrt{2}$$

$$\sqrt{144 \frac{2}{x}} a = \sqrt{4} \quad 12a = 2 \Rightarrow a = \frac{1}{6}$$

$$g = -ax + 2 \quad f'(x) = -a \quad f(x) = -ax + 2$$

$$f(x) + f'(x) = -8a + 2 = -1 \quad 8a = 3$$

$$a = \frac{3}{8} \quad f'(x) = -\frac{3}{8} \quad (2)$$

$$g = \frac{2}{v} + \frac{0}{v} \quad f'(2) = \frac{1}{v} \quad f(2) = \frac{2}{v} + \frac{0}{v}$$

$$f(q) = \frac{aq-1}{(1+q)^r}$$

$$\frac{a+r}{(1+q)^r} = \frac{1}{v}$$

$$\frac{v(aq-1)}{(1+q)^r} = 2-0$$

$$f'(q) = \frac{aq+r}{(1+q)^r}$$

$$a = \frac{(1+q)^r}{v} = r$$

(5)
r

$$vaq - v = r(2+r)(2) + 0 \quad 2=2 \quad a=r$$

$$f(r) = 0 \quad f'(r) = 0 \quad b = -15 \quad a = -15$$

$$f(r) = r^2 + a \rightarrow a = -15$$

$$f(q) = q^2 - aq - b \rightarrow 1 - 25 - b = 0 \rightarrow b = -15$$

$$b - a = -15 - 15 = -30$$

$$\lim_{q \rightarrow 0} \frac{f(q) f'(q)}{(1-f(q))^m} = \frac{1}{v} \sqrt{r} \rightarrow \frac{2^{2n} \cdot n \cdot a^2 \cdot a \left(1 - \frac{2^r}{r}\right)^{1/r}}{\left(1 - \left(1 - \frac{2^r}{r}\right)\right)^m}$$

$$m = 2n - \frac{1}{r}$$

$$2nr^m = r \Rightarrow m = \frac{1}{r} \quad n = r$$

$$2m + n = 2\left(\frac{1}{r}\right) + r = 9$$

r

(2)

$$f'\left(\frac{\sqrt{r}}{4}\right) - rg'\left(\frac{\sqrt{r}}{4}\right) = (f - rg)'\left(\frac{\sqrt{r}}{4}\right)$$

$$\rightarrow (f - rg)' = \left(\frac{1 + \cos^2 u}{r - \cos^2 u} - \frac{r}{r - \cos^2 u} \right) = \left(\frac{(\cos u + r)(\cos^2 u - r \cos^2 u + r)}{(r - \cos^2 u)(r + \cos^2 u)} - \frac{r}{r - \cos^2 u} \right) =$$

$$\left(\frac{\cos(\cos u - r)}{-\cos u - r} \right)' = -(\cos u)' = \sin u \quad u = \frac{\sqrt{r}}{4} \rightarrow \sin\left(\frac{\sqrt{r}}{4}\right) = \frac{-1}{r}$$

سؤال 12

$$f(x) = \frac{\sqrt{x+1}}{\sqrt{x}-1} \rightarrow \sqrt{x}y - y = \sqrt{x+1} \rightarrow \sqrt{x}(y-1) = y+1 \rightarrow \sqrt{x} = \frac{y+1}{y-1} \rightarrow x = \left(\frac{y+1}{y-1}\right)^2 \rightarrow y = \left(\frac{x+1}{x-1}\right)^{\frac{1}{2}}$$

$$f(2) = \frac{\sqrt{2+1}}{\sqrt{2}-1} \rightarrow f'(2) = \frac{-2}{(\sqrt{2}-1)^2} \quad f(x) = \frac{1}{x} \quad f^{-1}(x) = x$$

$$f(x) = \frac{1}{x-1} \Rightarrow f'(x) = \frac{-1}{(x-1)^2} \quad (1) \quad \wedge$$

$$f'(4) = \frac{-1}{(4-1)^2} = \frac{-1}{9}$$

$$f^{-1}(x) = \left(\frac{x+1}{x-1}\right)^2 \rightarrow (f^{-1})' = 2 \left(\frac{x+1}{x-1}\right) \times \frac{-2}{(x-1)^2}$$

$$f^{-1}(-1) = -1$$

$$\rightarrow (f^{-1}(-1))' = 2 \times (-1) \times (-1) = -1$$

$$\frac{f(1) - f(-1)}{1 - (-1)} = \frac{1 - (-1)^2}{1 - (-1)} \Rightarrow$$

$$\left. \begin{aligned} 1 &= -1 \\ a &= \frac{1}{2} \end{aligned} \right\}$$

$$f(1) = 2 \times 2 \times (2^2 + 1)^2 (1 - \frac{1}{2} \times 2) \quad (2)$$

$$-\frac{1}{2} (2^2 + 1)^2 = 12 - 8 = 4 \quad \checkmark$$

$$y = \sin x \cos x$$

10

$$y = (\sin^2 x + \cos^2 x) (\sin^2 x - \cos^2 x) = -\cos^2 x$$

$$\frac{(\sin^2 \frac{\pi}{4} - \cos^2 \frac{\pi}{4})}{\sin} = \frac{(\frac{1}{2} - \frac{1}{2})}{\frac{1}{2}} = -1 \quad (2) \quad \checkmark$$